PERIODIC TEST-1 (2025-26)
QUESTION PAPER

Subject: Chemistry (043) Grade: XI1

Marks: 25 Time: 1 Hour
Name: Date: 16-06-2025

General Instructions:

The guestion paper comprises five sections - A to E. There are 12 questions in the question paper. All
questions are compulsory.

section - A, Question Nos. 1 to 6 are Multiple Choice Questions (MCQs) and Assertion - Reason Type
Questions, carrying 1 mark each. '

'_Se::tlon B, Question’ Nos 7and8;

SECTIO i".*l«::-,_r"‘: v

ce ques "iuu-.'c:—‘\‘_ﬂ‘h? ose the most




In Question nos. 5 a

nd 6, two statements

e .
he carrect answer to 1 '€ labelled Assertion

... . (A) and the other (3bail
hese questions from the codes (a), —

(b}, (c) and (d) as given

c) Alsitrue; hut R is false.

d) A is false, but R is trye.

5, Assertion (A): Addition re
' ‘Reason (R): Addition of
6. Assertion (A): Ethanol j
Reason (R): Sodium et

action of water lo_.hut-l—ene-ln;;_m;.;.mEﬂk\um yialds butan-1-of.

water inan acidic medium praceeds through the formation of carbocation:
5 a weaker acid than phenol.

hoxide may be Prepared by the reaction of ethanol with agueous NaOH,

(1]

(1]

SECTION-B

i Snmpnund‘n’ _“f“,?:,'f'%‘,"?_'?—El._ﬂ!_fﬂr_r_nuTaﬁ C4HsBr is treated with ag, KOH solution: The rate of this reaction
EPE ndsupu ) F.','_I_E'.tq_n-::_e ntration af the compound ‘A’ anly. When another optically active (somer ‘8’ of
th.i.f'_:‘:_ﬁmﬁ-?uf‘ﬂ:_ﬂaf?ttﬂﬂtg'ql With an ag: KOH solution, the rate of reaction was found to be dependent on
the cancentration of both the compound and the KOH, Write dawn the structural farmula of both the
compounds ‘A’ and ‘B! ) ' SR (2]
Wﬂt‘!the structure ufcompuunds}t, Y and Z in the folllowiqg-rean_:-l_:inn: 21
) CH3-CH-CH, alc KOH X HBr, Peroxide _ ‘Nal; Acetone

etrd " - _|3.__—* : Y 2
b) Out of the structures given below, which one is an example of allylic halide?

e (1

. 9. (llustrate the following reactions, giving a suitable example for each: 3]
a) Kolbe'sreaction
b) Reimer-Tiemann reaction,
;1 . Gt Rt N K] L] . N B ——— P N
100 a) ! ‘material used in the industrial preparation of phenol, o
b) Write the mechanism of acid dehydration of ethanol to yield ethene. 2]

'SECTION—C

SECTION-D
11 Read the passage given below and answer the questians that follow:
il s om s rei ], SR o B T

. ‘at 413K with
0, excess aleohol yield Is partake in nucleoghilic substitution and

—— ﬂ.
s Ethers react



a) Arrange the following in Increasing order of the boiling point: \

(1]
OH OH
| - g |
a) > b) T c) .
OH /r
b) Write a distinguishing test between phenols and alcohols,

[1]
c) Complete the following chemical reaction:

(2]
-~ 0

1L.CH MgBr
i [ 1Mg

~ 2. H,0" ' :
OH

——

OR

¢) Answer the -fa!lngng_questions:
(i) Why is the R-"IO‘
(ii) Why is the c-OH

(2]
H bond angle in alcohol less than the tetrahedral bond angles?

bond length in CH;OH longer than the C-OH bond length in phenol?

12. a) What happens when: (3]
I n-butyl alcohol Is treated with PCls,
{i- Ethanol s treated with Cu at 573K.
iii.Ethyl chloride is treated with alco. KNO,,

b) How can the following conversion s be carried out?

(2]
. 2_-M,etl1yl.~.1-jaropene.;to;-'z-;hlaro_-z-mét'hylp_rog;q_g '
il. Chlorobenzene to toluene _
OR |
a) How can the following conversions be carried out? (3]
i ' /| alcohol

2]

loride from alkyl alcohol?




